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Ry Y DIFMIEY 3275 m3

BR A+ 13 1405 m2

BRL Ry £ 1652 m3

Bt Ry £ 190 m3

B RAELIEN S ik B AR S 2. Tkm 1433 m3

BERELOS 1433 m3
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Ry Y DIFMIEY 190 m3

BR A+ 13 34.8 m2

BRL B Y £ 124 m3
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B»Aa BT 25.8 m3
B»Aa TETF 21.7 m3
B»Aa BT YNF 30.2 m3
TREITREBEE & YAFLYT4ML t=0. 15 2%kEh = 351 m?2
(MhEHBEE L T)
B»Aa BT 28.5 m3
B»Aa TETF 44.6  m3
TREITREBE = & YAFLYI4ML t=0. 15 2%kE = 400 m2
TR T EMEE & YAFLYTH-L t=25 400 m?2
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B»Aa TETF 57 m3
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B&Ea2o)—Frn T#HL:PHCo 700 A%E L=12. Om 5 ¥
L #41:PHC® 700 BfE L=12. Om
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L #41:PHC$ 600 BfE L=12. Om

B&Ea>o)—Fkm T#HL:PHC® 600 AFE L=12. Om 3 ¥
L #1:PHC 800 C#E L=8.0m

B&Ea2o)—Frn T#Hi:PHC» 800 A%E L=11.0m 1 ¥
L #1:PHC 800 C#E L=8.0m

BEa2Y1)— T#Hi:PHC» 800 A%E L=12. Om 2 x
L #1:PHC® 700 C#E L=8.0m

B&Ea>o)—Fkm T#HL:PHCo 700 A%E L=11.0m 2 ¥
L #1:PHC® 700 C#E L=8.0m
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L #1:PHC ¢ 800 BfE L=8.0m
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L #1:CPRC®» 800 I #& L=8.0m RP7
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E 8K SD295A D10 68.5 t
ER 8K SD295A D13 109.0 t
ER 8K SD295A D16 11.1 t
ER 8K SD345 D19 8.9 t
ER 8K SD345 D22 17.8 t
ER 8K SD345 D25 62. 4 t
ER 8K SD390 D29 5.7 t
797" ¥EBR H2 -7.6 t
#5750 THASL RCI-FUHEE 273 t
£ 17 E 10t=® 273 t
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E5EavhY-+ BT Fc18N/mm2 S15 64.8 m3
L5Eavh)-+ LR Fc27N/mm2 S18 680 m3
E@Iv)-+ LRAKRER  Fc27N/mm2 S18 58.6 m3
E5EavhY-+ ih b Fc27N/mm2 S18 1452  m3
VYY) -MTERFHE #Tavhy-+ w U7 $TER 39.6 m3
YY) -MTERFHE t yMETIVY-b K V7 $TER 25.2 m3
WYY -MTERFHE EREIv)-+ w07 $TER 680 m3
IVhY)-MTERF I e KRR U7 FTER 58.6 m3
WYY -MTERFHE 1BEavyY-+ w07 $TER 832 m3
WYY -MTERFHE 2B Y-H w07 $TER 620 m3
U7 HEE EEHE 50m3=K i 64.8 m3
F U7 EE EERE 50m3 Ak 100m3 K i 58.6 m3
V7 EE EENE 100m3 14 L 2132 m3
V7 EE EANE 50m3 K i 2
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BEARREEEE EREE  +6NFEIE 680 m3

BERREEEE TRIKAR +3NFEIE 58.6 m3

BERREEEE h EE  +3NFHIE 1452  m3
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V)Y -MTER F R Wz Vv TER 90.9 m3
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@)+ HZ Fc18N/mm2 S15 39.5 m3

V)Y -MTER F R Wz Vv TER 39.5 m3

AU EE EERE 50m3 K i 39.5 m3

v U7 EE EXEE 50m3 K i 1 [
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E@avy)-+ ¥ Fc18N/mm2 S15 1.9 m3
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LEi EEEE 2275 m?2

TaEEZ% Hh_EER 4505 m2

ARER Hh_E #R 518 | m?2

e 3T R B 42 2018 m?2

TRE BiE EHEER 67.4 m?2

E BiE ih b EB 3077 m2

B E g 10tE 12460 m2
Sy E’E

sy b BE[E180 AYyME30 # T 17.1 m
SEEAyh EE WA

sy b BE[E180 AUyME30 # T 13.4 m
Sy E’E

&Ry b BE[E250 AYyMig30 #HITIH 5.8 m
SEEAyh EE WA

&Ry b BE[E250 AYyMig30 #ITIH 3.6 m
SE2Ayr KF

&Ry b B2[E180 AYyMig30 ##ITIH 4.0 m
SEEAyE  JKIE WA

&Ry b B2[E180 AYyMig30 ##ITIH 9.2 m
SEAyh KE Mk

&Ry b BE[E250 AYyMig30 #HITIH 2.5 m
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NBAER $ 600 L=550 Y
NBAER ¢ 600 L=700 1 AFR
TR E I AERER 518  m2
TR E I {EREFT IR 2018 | m?2
I E S B 3144 m2
JKE1 B #h 30%20 429 m
2 B ih 104 m
FHFEE i 87 m
-7 VP150 L550 3 MHFr
(H1LHE)
a7 EHRELT 46.0  m?2
AR 26.1 m2
BPRE R 10t&E 72.0  m2
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%HEBTVK B 67.6 m
ti};*%tﬂiﬂk ity 156. 0 m
TA77 VMR K E-2 & 240 m
TAI7W B 7K E-2 s tY 138 m
Va V2 MS-2 10x 10 1103 m
Va V2 MS-2 5x5 19.4 m
Va V2 Bhnt” SR-1 5x5 29.5 m
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E 8K SD295A D10 9.1 t
E 8K SD295A D13 65.9 t
E R 8K SD295A D16 3.7 t
E 8K SD345 D19 1.7 t
E 8K SD345 D22 2.9 t
| ER#EH SD345 D25 34.1 t
| ER#EH SD390 D29 2 t
A397° ¥ERR H2 -3.2 t
/5 0 T 4R ST RCI-AViEiE 115 t
5% 7 E it 10t= 115 t
g AE R D22+D22 24 HFR
| kN AR D25+D25 774 HFR
| SkERh AR D29+D29 80 AR
(RER4E L)
BEEHE @ 6-100x 100 268 m
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TEav-+ BT Fc18N/mm2 S15 60.9 m3
TEav-+ Hig Fc27N/mm2 S18 911 m3
E@avy-+ TR Fc27N/mm2 S18 166 m3
YY) -MTERFH BTavy-+ V7 $TE% 60.9 m3
YY) -MTERFH B+ V7 $TE% 911  m3
YY) -MTERFH = FE R hi V7 $TE% 166 m3
U7 HEE EEHE 50m3 LA £ 100m3K & 60.9 m3
U7 HEE EEHE 100m3 LA £ 1077 m3
U7 HEE ERHE 50m3 1L £ 100m3 K i 1

v EE BAME 100m3 LA £ 5
BEARREMIERE EMEAR  +6N4EIE 911  m3
BEARREMIERE T FEERhR +3N48 1E 166 m3
(RERLE)

TEav-+ Bz Fc18N/mm2 S15 114 m3
V)Y -MTERF il t v7" $TE% 114 m3
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ELH B 1603 m2
TR BHE HLHEH 1241 m2
B E R 10t= 2844 m2
TR E S BiE 1241 m2
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